LIVINGSTON PARISH

PLANT ENTERPRISES PRODUCTION

LIVINGSION FARISH		FLANI EN		PRODUCTION			
	Number of		Yield per		Total	Units of	Gross Farm
Crop	Producers	Acres	Acre		Production	Measure	Value
FORESTRY							
Pulpwood							
Pine					55,334	cords	
Hardwood					24,457	cords	
Pulpwood (Total)					79,791		
Chip & Saw (Total)					118,151	cords	
Saw Timber							
Pine					7,872,813	board feet	
Hardwood					3,299,810	board feet	
Saw Timber (Total)					11,172,623		
Total Pulpwood, Chip & Saw,							\$23,956,377
Saw Timber FOB Mill							
Total Forestry Stumpage							\$12,477,545
(Total)							
Christmas Trees (Total)	*				1,350	trees	\$54,000
Forestry (Total)							\$24,010,377
FRUITS							
Blueberries (Total)	*	2.0	1,000.00		2,000	lbs.	\$3,200
Strawberries (Total)	25	68.0	2,600.00		176,800	flats	\$1,768,000
Fruits (Total)		70.0					\$1,771,200
GREENHOUSE VEGETABLES							
Tomatoes (Total)	*	18,900.0	5.50	Yield / sq. ft.	103,950	lbs.	\$129,938
Greenhouse Vegetables (Total)		18,900.0					\$129,938
HAY FOR SALE							
Grass (Total)	65	3,000.0	3.00		9,000	tons	\$540,000
Hay for Sale (Total)		3,000.0					\$540,000
Home Gardens (Total)	6,100						\$1,586,000
NURSERY CROPS							
Floraculture & Bedding	12					acre	\$250,000
Plants (Total)							
Woody Ornamentals (Total)	6					acre	\$100,000

NURSERY CROPS						
Foliage Plants (Total)	*				acre	\$20,000
Nursery Crops (Total)						\$370,000
Sod Production (Total)	*	90.0			acre	\$540,000
VEGETABLES						
Broccoli (Fresh) (Total)	*	2.0	300.00	600	cartons (20	\$12,000
					lbs.)	
Cabbage						
Fresh	*	5.0	550.00	2,750	sacks (50 lbs.)	\$24,750
Cabbage (Total)		5.0				\$24,750
Cauliflower (Total)	*	2.0	350.00	700	cartons (20	\$14,000
					lbs.)	
Collards						
Fresh	15	100.0	600.00	60,000	doz. bunches	\$420,000
Collards (Total)		100.0				\$420,000
Eggplant (Total)	*	2.0	600.00	1,200	bu. (33 lbs.)	\$24,000
Irish Potatoes						
Fresh	12	26.0	200.00	5,200	cwt.	\$182,000
Irish Potatoes (Total)		26.0				\$182,000
Mustard (Fresh) (Total)	15	65.0	700.00		doz. bunches	\$318,500
Okra (Fresh) (Total)	*	4.0	300.00	1,200	bu.	\$36,000
Peppers						
Bell	*	8.0	850.00	6,800	bu. (28 lb.)	\$136,000
Peppers (Total)		8.0				\$136,000
Pumpkin (Fresh) (Total)	*	6.0	200.00	1,200	cwt.	\$30,000
Snap Beans (Fresh) (Total)	*	8.0	150.00	1,200	bu. (30 lbs.)	\$36,000
Southern Peas (Fresh) (Total)	6	12.0	100.00	1,200	bu. (24 lbs.)	\$30,000
Squash (Fresh)						
Yellow Squash	*	6.0	200.00	1,200	bu. (45 lbs.)	\$24,000
Squash (Fresh) (Total)		6.0				\$24,000
Sweet Corn (Fresh) (Total)	7	14.0	600.00	8,400	doz. ears	\$29,400
Tomatoes (Field) (Total)	8	12.0	1,250.00	15,000	lugs (20 lbs.)	\$300,000
Turnips (Fresh) (Total)	*	6.0	600.00	3,600	doz. bunches	\$25,200
Watermelon (Total)	*	4.0	100.00	400	cwt.	\$3,200
Vegetables (Total)		282.0				\$1,645,050
TOTAL ALL PLANT ENTERPRISES						\$30,592,565

LIVINGSTON PARISH

LIVINGSTON PARISH FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Fisheries	Producers	Production	Production	Measure	Value
AQUACULTURE					
Catfish (Farm) (Total)	*	10 Acres in Prod.	7,500	lbs.	\$5,250
Fish bait (Total)	*		10,000	lbs	\$65,000
Alligators (Farm) (Total)			124,020	ft.	\$3,100,500
Aquaculture (Total)					\$3,170,750
MARINE FISHERIES					
Crabs (Total)	10		12,081	lbs.	\$127,918
Marine Fisheries (Total)					\$127,918
Fur Animals (Total)			1,497	pelts	\$14,521
Alligators (Wild) (Total)			1,860	ft.	\$55,800
HUNTING LEASES					
All Other Game (Total)	120	250,000 No. Acres		acre	\$1,750,000
		Leased			
Hunting Leases (Total)					\$1,750,000
Honey (Total)	10	100 No. Hives	11,000	lbs.	\$6,490
TOTAL ALL FISHERIES & W	VILDLIFE ENTERPRISES				\$5,125,479

^{**} The marine, freshwater and oyster data presented here are for the year 2004 rather than 2005. Release of fisheries landings data by the collecting agencies occurs

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			1,040	head	\$554,408
400-500 lbs.			1,040	head	\$629,320
500-600 lbs.			620	head	\$407,393
600-700 lbs.			300	head	\$221,052
Steer Calves (Total)					\$1,812,173
Heifer Calves					
300-400 lbs.			1,040	head	\$486,486
400-500 lbs.			1,040	head	\$568,948

⁴⁻⁵ months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

Meifer Calves (Total) Sides Side	CATTLE & CALVES						
Heifer Calves (Total) Yearling Cattle	500-600 lbs.				620	head	\$384,171
Vearling Cartle 600-700 lbs. 200 head 51,22 700-800 lbs. 200 head 51,33 700-800 lbs. 200 head 52,57,6 200-Calf Pairs (Total) 200 head 52,57,6 200-Calf Pairs (Total) 200 head 52,57,6 200-Calf Pairs (Total) 300 7,500 No. Cows 200-Calf Pairs (Total) 300 300-Caws	600-700 lbs.				300	head	\$209,313
600-700 lbs. 200 lead 51.2	Heifer Calves (Total)						\$1,648,917
700-800 lbs. 200 head \$1,33 Yearling Cattle (Total) \$2,51 Cow-Calf Pairs (Total) 400 pair \$391,61 Cull Cows (Total) 80 head \$257,61 Cull Bulls (Total) 80 head \$74,22 Cattle & Calves (Total) 300 7,500 No. Cows \$40,823 head \$4187,13 DAIRY * 50 No. Adult Cows 496,923 pounds \$79,90 Bred Heifers 16 head \$28,80 Adult Cows 496,923 pounds \$79,90 Bred Heifers 16 head \$28,80 Adult Cows 496,923 pounds \$79,90 Bred Heifers 16 head \$28,80 Adult Cows 496,923 pounds \$79,90 Bred Heifers 16 head \$28,80 Adult Cows 496,923 pounds \$79,90 Bred Heifers 16 head \$28,80 Bull Calves 18 head \$11,40 Breeding Age Bulls \$10 head \$12,50 Dairy Cows (Total) \$10 head \$12,50	Yearling Cattle						
Yearling Cattle (Total) \$2.5' Cow-Calf Pairs (Total) 400 pair \$391,60 Cull Cows (Total) 50 head \$257,60 Cull Bulls (Total) 80 head \$74,20 Cattle & Calves (Total) 300 7,500 No. Cows Feel of the common service of th	600-700 lbs.				200	head	\$1,235
Cow-Calf Pairs (Total) 400 pair \$391,60 Cull Cows (Total) 650 head \$257,60 Cull Bulls (Total) 80 head \$74,20 Cattle & Calves (Total) 300 7,500 No. Cows \$4,187,10 DAIRY Dairy Cows \$4,187,10 Milk * 50 No. Adult Cows 496,923 pounds \$79,90 Bred Heifers 16 head \$28,80 Adult Cows 16 head \$28,80 Adult Cows 400 head \$60,00 Cull Cows 24 head \$60,00 Bull Calves 24 head \$11,40 Bull Calves 1 head \$11,20 Dairy Cows (Total) 1 head \$11,20 Dairy Cows (Total) \$185,40 \$185,40 HORSES Brood Mares 20 head \$80,00 Recreation Horses 25 50 No. Brood Mares 20 head \$80,00 Recreation Horses 150 No. Stallions 45 mares bred \$12,50 Show Horses 25 No. Stallions 45 mares	700-800 lbs.				200	head	\$1,335
Cull Cows (Total) 650 head \$257,60 mode Cull Bulls (Total) 300 7,500 mode 80 head \$74,20 mode Cattle & Calves (Total) 300 7,500 mode \$100 mode \$4,187,11 mode DAIRY Total Cows \$100 mode <	Yearling Cattle (Total)						\$2,570
Cull Bulls (Total) 300 7,500 No. Cows \$4,187,157 DAIRY Total Cows \$4,187,157 Dairy Cows Total Cows \$4,187,157 Milk * \$5,99 Bred Heifers 16 head \$28,88 Adult Cows 40 head \$60,00 Cull Cows 1 head \$11,44 Bull Calves 1 head \$11,44 Bull Calves 1 head \$11,24 Breeding Age Bulls 1 head \$11,24 Briege Gung Age Bulls 1 head \$11,24 Dairy Cows (Total) 1 head \$11,25 HORSES Brood Mares Brood Mares 25 50 No. Brood Mares 20 head \$80,00 Recreation Horses 1,400,00 Stud Fees 1,500,00 Show Horses 1,500,00	Cow-Calf Pairs (Total)				400	pair	\$391,652
Cattle & Calves (Total) 300 7,500 No. Cows \$4,187,187 DAIRY Dairy Cows Storage of Mares \$4,187,187 Milk * 50 No. Adult Cows 496,923 pounds \$79,90 Bred Heifers 16 head \$28,80 Adult Cows 24 head \$60,00 Cull Cows 24 head \$11,40 Bull Calves 23 head \$11,20 Breeding Age Bulls 1 head \$185,4 Dairy Cows (Total) \$185,4 \$185,4 Dairy (Total) \$185,4 \$185,4 HORSES \$10 No. Brood Mares 20 head \$80,0 Recreation Horses 25 50 No. Brood Mares 800 head \$12,200,0 Brood Mares (Total) \$10 No. Stallions 45 mares bred \$112,50 Show Horses 10 No. Stallions 45 mares bred \$312,50 Show Horses 25 No. Stallions<	Cull Cows (Total)				650	head	\$257,631
DAIRY Dairy Cows	Cull Bulls (Total)				80	head	\$74,244
Dairy Cows Milk * 50 No. Adult Cows 496,923 pounds \$79,90 Bred Heifers 16 head \$28,80 Adult Cows 40 head \$60,00 Cull Cows 24 head \$11,40 Bull Calves 23 head \$1,21 Breeding Age Bulls 1 head \$1,22 Dairy Cows (Total) \$185,41 \$185,41 HORSES \$100 No. Brood Mares 20 head \$80,00 Show Horses 25 50 No. Brood Mares 20 head \$80,00 Brood Mares (Total) 1,400 No. Brood Mares 20 head \$80,00 Brood Mares (Total) 10 No. Stallions 800 head \$1,200,00 Stud Fees 10 No. Stallions 45 mares bred \$112,50 Show Horses 25 No. Stallions 45 mares bred \$112,50 Show Horses 50 No. Stallions 400 </td <td>Cattle & Calves (Total)</td> <td>300</td> <td>7,500</td> <td>No. Cows</td> <td></td> <td></td> <td>\$4,187,187</td>	Cattle & Calves (Total)	300	7,500	No. Cows			\$4,187,187
Milk * 50 No. Adult Cows 496,923 pounds \$79,90 Bred Heifers 16 head \$28,80 Adult Cows 40 head \$60,00 Cull Cows 24 head \$14,40 Bull Calves 23 head \$1,12 Breeding Age Bulls 1 head \$1,22 Dairy Cows (Total) \$185,42 HORSES \$185,42 Brood Mares \$185,42 Show Horses 25 50 No. Brood Mares 20 head \$80,00 Recreation Horses 150 1,400 No. Brood Mares 800 head \$1,200,00 Stud Fees \$120 No. Stallions 45 mares bred \$1,280,00 Stud Fees \$10 No. Stallions 45 mares bred \$112,50 Show Horses 25 No. Stallions 45 mares bred \$37,50 Recreation Horses 50 No. Stallions 40 mares bred \$37,50	DAIRY						
Bred Heifers 16 head \$28,80 Adult Cows 40 head \$60,00 Cull Cows 24 head \$14,40 Bull Calves 23 head \$1,40 Bull Calves 23 head \$1,20 Breeding Age Bulls 1 head \$1,20 Breeding Age Bulls 1 head \$1,20 Brity (Total) \$185,40 Brood Mares \$1,00 Brood Mares	Dairy Cows						
Adult Cows Cull Cows Cull Cows Bull Calves Bull Calves Breeding Age Bulls Dairy Cows (Total) Dairy (Total) HORSES Brood Mares Show Horses Show Horses 150 1,400 No. Brood Mares Recreation Horses Race Horses Race Horses Recreation Horses Show Horses Cull Cows Additional State S	Milk	*	50	No. Adult Cows	496,923	pounds	\$79,905
Cull Cows 24 head \$14,44 Bull Calves 23 head \$1,15 Breeding Age Bulls 1 head \$1,20 Dairy Cows (Total) \$185,45 Dairy (Total) \$185,45 HORSES *** *** Brood Mares 25 50 No. Brood Mares 20 head \$80,00 Recreation Horses 150 1,400 No. Brood Mares 800 head \$1,200,00 Brood Mares (Total) \$1,280,00 \$1,280,00 \$1,280,00 Stud Fees 10 No. Stallions 45 mares bred \$112,50 Show Horses 25 No. Stallions 25 mares bred \$37,50 Recreation Horses 50 No. Stallions 400 mares bred \$200,00	Bred Heifers				16	head	\$28,800
Bull Calves 23 head \$1,15 Breeding Age Bulls 1 head \$1,20 Dairy Cows (Total) \$185,45 Dairy (Total) \$185,45 HORSES Brood Mares \$185,45 Show Horses 25 50 No. Brood Mares 20 head \$80,00 Recreation Horses 150 1,400 No. Brood Mares 800 head \$1,200,00 Brood Mares (Total) \$1,200,00 \$1,200,00 \$1,200,00 \$1,200,00 Stud Fees \$10 No. Stallions 45 mares bred \$112,50 Show Horses 25 No. Stallions 25 mares bred \$37,50 Recreation Horses 50 No. Stallions 400 mares bred \$200,00	Adult Cows				40	head	\$60,000
Breeding Age Bulls 1 head \$1,20 Dairy Cows (Total) \$185,42 Dairy (Total) \$185,42 HORSES Frood Mares \$185,42 Brood Mares \$1,20 Show Horses 25 50 No. Brood Mares 20 head \$80,00 Recreation Horses 150 1,400 No. Brood Mares 800 head \$1,200,00 Brood Mares (Total) \$1,280,00 \$1,280,00 \$1,280,00 Stud Fees 10 No. Stallions 45 mares bred \$112,50 Show Horses 25 No. Stallions 25 mares bred \$37,50 Recreation Horses 50 No. Stallions 400 mares bred \$200,00	Cull Cows				24	head	\$14,400
Dairy Cows (Total)	Bull Calves				23	head	\$1,150
Dairy (Total) \$185,45 HORSES Brood Mares 25 50 No. Brood Mares 20 head \$80,00 Recreation Horses 150 1,400 No. Brood Mares 800 head \$1,200,00 Brood Mares (Total) \$1,280,00 \$1,280,00 \$1,280,00 Stud Fees 10 No. Stallions 45 mares bred \$112,50 Show Horses 25 No. Stallions 25 mares bred \$37,50 Recreation Horses 50 No. Stallions 400 mares bred \$200,00					1	head	\$1,200
HORSES Brood Mares 25 50 No. Brood Mares 20 head \$80,00 Recreation Horses 150 1,400 No. Brood Mares 800 head \$1,200,00 Brood Mares (Total) \$1,280,00 \$1,280,00 \$1,280,00 \$1,280,00 Stud Fees 10 No. Stallions 45 mares bred \$112,50 Show Horses 25 No. Stallions 25 mares bred \$37,50 Recreation Horses 50 No. Stallions 400 mares bred \$200,00	Dairy Cows (Total)						\$185,455
Brood Mares Show Horses 25 50 No. Brood Mares 20 head \$80,00 Recreation Horses 150 1,400 No. Brood Mares 800 head \$1,200,00 Brood Mares (Total) \$1,280,00 \$1,	Dairy (Total)						\$185,455
Show Horses 25 50 No. Brood Mares 20 head \$80,00 Recreation Horses 150 1,400 No. Brood Mares 800 head \$1,200,00 Brood Mares (Total) \$1,280,00 \$1,280,00 \$1,280,00 Stud Fees 10 No. Stallions 45 mares bred \$112,50 Show Horses 25 No. Stallions 25 mares bred \$37,50 Recreation Horses 50 No. Stallions 400 mares bred \$200,00	HORSES						
Recreation Horses 150 1,400 No. Brood Mares 800 head \$1,200,00 Brood Mares (Total) \$1,280,00 Stud Fees 10 No. Stallions 45 mares bred \$112,50 Show Horses 25 No. Stallions 25 mares bred \$37,50 Recreation Horses 50 No. Stallions 400 mares bred \$200,00	Brood Mares						
Brood Mares (Total) Stud Fees Race Horses Show Horses Recreation Horses Recreation Horses Stud Fees 10 No. Stallions 45 mares bred \$112,50 \$37,50 \$37,50 \$37,50 \$400 mares bred \$200,00	Show Horses		50	No. Brood Mares	20	head	\$80,000
Stud Fees10 No. Stallions45 mares bred\$112,50Show Horses25 No. Stallions25 mares bred\$37,50Recreation Horses50 No. Stallions400 mares bred\$200,00	Recreation Horses	150	1,400	No. Brood Mares	800	head	\$1,200,000
Race Horses10 No. Stallions45 mares bred\$112,50Show Horses25 No. Stallions25 mares bred\$37,50Recreation Horses50 No. Stallions400 mares bred\$200,00	` /						\$1,280,000
Show Horses25 No. Stallions25 mares bred\$37,50Recreation Horses50 No. Stallions400 mares bred\$200,00							
Recreation Horses 50 No. Stallions 400 mares bred \$200,00							\$112,500
							\$37,500
Stud Fees (Total) \$350,00			50	No. Stallions	400	mares bred	\$200,000
							\$350,000
	Race Horses (Total)	10					\$600,000
	· · · · · · · · · · · · · · · · · · ·						\$250,000
	, , ,	150			1,400	head	\$2,100,000
Horses (Total) \$4,580,00	Horses (Total)						\$4,580,000

LIVINGSTON PARISH

LIVINGSTON PARISH ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
POULTRY					
Broilers (Total)	*		542,781	lbs.	\$385,375
Poultry (Total)					\$385,375
RABBITS					
Fryers (Total)	*	750 No. Animals	3,000	lbs.	\$2,400
Rabbits (Total)					\$2,400
GOATS					
Show Goats (Total)			60	head	\$13,500
Slaughter Goats (Total)			625	head	\$67,813
Stocker Goats (Total)			45	head	\$3,893
Cull Goats (Total)			55	head	\$3,300
Goats (Total)	42	575 No. Does			\$88,505
SWINE					
Show Pigs (Total)			50	head	\$14,250
Slaughter Hogs (Total)			800	head	\$104,520
Swine (Total)		No. Sows			\$118,770
TOTAL ALL ANIMAL ENTERPR	ISES				\$9,547,691

LIVINGSTON PARISH \$45,265,735